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If you say; that up to a height of ten o°ndv, then it is a nvnas,
and if not it is not a n°92">

OVERVIEW
nww 27 taught concerning a n°o»73 that: 1wy 7v noom'. The Rna asks does
he mean that: "n 195 7 X K2 X1 nO9n70 M7 R 7wy 797", The X mx goes
on to refute this X1°»X M7 from a statement by 97°3 27. This moown will be
discussing the vw»s of *"w1 and the *"7 about this X1aR 7.
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»'""w9 explained; what is meant by — ‘if it has a height of ten o°mov it 1s a
nom7>’, this refers to a fenced-in field which is larger than a 'a»nxo n»2

and it was not fenced-in for residential use, therefore it has the 17 of a 73,
in the sense that you may not carry there more than nx '7. This was the X1y 777,

nvoIN asks on *"wdo:
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The 59 has a difficulty with s""w7 explanation of what we thought a
n°on1o is, for this which *"wn claims is a n¥9»73, in reality it is a '"'79
whether we follow the interpretation of 877 or of WX 27 in the previous X3,
nevertheless they both agree that this is a >"717 -
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and it would not have been necessary to quote 273 27 in order to refute this

assumption4, because we know it already from WX 271 X9
= MPHNN JNY PR NYPIY O 297 59195 NN ND XY IN) MNP 99917 1Y)

And furthermore - there is another difficulty with s""w9 explanation — how

" A 780 N2 is an area the size of 50 by 50 MK, a D»NX0 N2 is two AXD N2 or 100 by 50 NMMX (5,000 square
nmR). This was the area of the 1ownn 130 (including the 71 MR).

2"y is well aware that RIpono this is a XN IRT >"70.

? See bottom of 1,1 and top of X,T.

* Even if we will say that in the XX M7 we may have thought that it is a N"2»73, but the X3 should have
refuted this from the opinions of WX 271 R?W who are discussing this same situation of a n°n Y 9P
0 nXo, and they say that it is a Xn»MR77 >"77. Furthermore from s'97°) 27 statement we are refuting only
what we infer from nww 217 (that if it is not ten 215w high it is not a n°>n13), not his actual statement; it
would be therefore better to quote *w& 171 X7 to refute the basic statement of nww 17, that 7 7wy v
o173 (in the way we understand it now); that this is not so, for it is a >"1.
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does the X3 say: “and if it does not have ten 0°119v it is not a n*9%3, how
can we say this for a 7pp2ay 2% which are specifically mentioned in the Xn>>72
as examples of a n°9»73, and they have no partitions surrounding them!

moon offers his interpretation:
—IWID 91T PN 13%29D NN
And it seems to the >''1 that this is how we should interpret this statement:
— NYYY NYNNY MININ DN 13991 79 MNINND NIINT 1Y NNIYIN
“If you say that if it has partitions of ten 2°150”, means; not if it actually
has partitions, for then it would be a >"717, but rather it means that if there is
sufficient air space to erect partitions ten 2°nov high, only then is it a n°on73;
— 51901377 %23 HY /519 NS NINDN NYPA YPIANY
It comes to exclude a field that is covered with a roof lower than ten
2’1ov from the ground and the roof is supported by posts -
— 19192 YUYV 9NN NV BIPN 1Y /> NAYA) PNRT 113 MY 1N KYY
that this is not a nv®»=93, since it is not ten 2°rov high, meaning that it does
not allow us to erect " mx°n»n because the roof interferes and this area is

considered a "1up 2'p» and it is permissible to carry in the entire area. To
this the X713 replies; how can you say this —

— 913 J19) 29 MNM

did not %793 27 say etc. that inside a house, which is less than ten 2°nov high, one may
not carry in the house more than NMnX '7, so we see that even in an area where one cannot
erect " Mx°nn it can still be a n*917.

SUMMARY

"W interprets N1 M7 X TWY 77 in its literal sense that it has > nxonn
(and it is more than a 0°nX0 N°2), and if not, it is not a N°7»7>.

Mmoo asks on "M that to refute this X" we should have quoted 271 X9W
*wX, who maintain that a 121 2°NR0 N°271 N 79P 1s a RN™IRT *"'77. And also
the Xn»72 states clearly that a 7yp21 0° are a N°%112, and they have no mx .
mMoon explains that 131 77wy 7v7 means that it is possible to erect " Mxnn,
and if not, it 1s a MVD DPAH.

> See ‘Thinking it over’ # 2.
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THINKING IT OVER
1. mvoIn asks two questions on *"w1. What are the relative strengths of each
question (and the order of the questions)?

2. Why is it necessary in the > w170 to say that it was 3"y " N5 N33107
PoR,°’ the 17 would seemingly be the same if it was 3"y "» m9a N3310N
5n12?’

® See footnote # 5.
" See wx nmn.
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